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QID : 241 - ‘FRNT &1 T TfY-fFede 8-

Options:

Correct Answer: 2) HF:+3N

Candidate Answer: 2) T:+31]

QID : 242 - AEFHAR | HIH-91 AN §?
Options:

1) dgey

) Tgife

3) Sty
4) PHYRY

N

Correct Answer: 1) dd2Y

Candidate Answer: 2) EIEEﬁ'%
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QID : 243 - TGS HH-TT TAN 572

Options:

1) HHYRY

2) Tgelife

3) dg=y

4) A

Correct Answer: 2) GE‘QW]%

Candidate Answer: 2) aﬁéﬂ%

QID : 244 - T8 SXIHT auT TSR 4t 0N e fqamif &1 o1 26 Sfagar, T 1890 &I SATETETG &
BT AT | S0 U TaTferR o9 B e 2, 31 faemif off & il g warferR Iog & gamac
G VM Y 8 URH g3 | 35 I, WYL, el sfagr, 7fora snfe fawdl &1 srege fasan | SgR
fRd w13 o Biae ¥ 31 TeT Bt udten Il BI | 391 faaTg IEvHT 3dt I g | It ST
Y TABIRT I G | 3611 30+ THY & T HHAN & ford g fewfora sik TamR forg=n uRy
fora | 3 dfea meTdi veTe fgadh SR ufSd T g Areda & Tudh H 3T | 9 7deR, 1913 ¥ HHYR
3 ATieed UdTd &1 URY T | TdT &1 SRferd shifdniNgl b HTHg-Id & 717 A7 | Hgefid sieft
gr{w-awmﬁaamﬁﬁwﬁé‘cﬂ%ﬁ,Wﬁmﬁsﬁﬁ'uawﬁaﬂmaﬁmﬁuﬂmqﬁ
= faan |

- faendish A Irarfee v yarg &1 yere= sgr 4 Ry fHar 2

Options:

) TGS
) ARTO
) PR

) ESIEEIS

HWON -

Correct Answer: 3) PBHYR

Candidate Answer: 3) P4

QID : 245 - HHT ATl QI |’ AT BT Ay d1e H =0 gHT-
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Correct Answer: 4) Sl HHE dg QT

Candidate Answer: 4) GﬁWTQTHaE@TQTHI
QID : 246 - ‘TN & 33T W, R 1t BR T 1* IR BT WY TR WUTAROT G-

1) T 331 W, foeg 8R T

2) S & H 331 I, 39 & H gR T

3) TR 33T WA & davlg Ht & gR |

4) T QT BR 4TI

Correct Answer: 1) H w51 9, f=g 8R T

Candidate Answer: 1) # 3/31 Wdl, fdh=] 8R TaTI

QID : 247 - faTier Treg o foT AT SIS <Teg; T SR 2
Options:

) Disorder

) Discrepancy

)

)

1
2
3) Discretion

4) Dismiss

Correct Answer: 2) Discrepancy

Candidate Answer: 4) Dismiss

QID : 248 - SUMMON' 3f3sit T8 & forg et uiiies orsg &
Options:

1) foafsfa s
2)P~rf?|am
3) Ha

4)§a|=n

Correct Answer: 4) dcilHI

Candidate Answer: 1) faafoid &



https://applink.adda247.com/d/XhqWf9lSap

Adda7

QID : 249 - Hicl AHTAT GeTaR &1 34 §-

Options:

Correct Answer: 4) 9T g Rl

Candidate Answer: 4) 91891 g &l

QID : 250 - T8 I HH T IR 3 o

Options:

98 99 A YA PR @ B

1)

2) & fiaa o @I

3)

4) UfEd S 7 Yl &Y YT AR |

Correct Answer: 1) dg A8®I Uledl gl

Candidate Answer: 4) UfSd St 7 Yol &I HUT G |

QID : 251 - 98 S9IR &1 3R 31 BT

Options:

Correct Answer: 2) [ERIRCTE]

Candidate Answer: 1) A= ey

QID: 252 -9 & fPaT NS BIA & 2
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Options:
1) U

2)al
3)dH
4)dR

Correct Answer: 3) diF

Candidate Answer: 3) TF

QID : 253 - T & YR W a1 b fba g g2

Options:

1)

2) 7R

3)dra

4)

Correct Answer: 1) o

Candidate Answer: 3) U]

QID : 254 - H8 HaR HR e, YHe F ZUIR| I eg W B-
Options:

) QI &I

) SUTGH T

) TIUI-TTEfOT

)

1
2
3
4) JaISHad! q&oT

Correct Answer: 4) PEICE RS

Candidate Answer: 4) TdISad q&fom

Qb :%255-m@mﬁﬁwaﬁﬂaﬁﬁﬂ%WW(%&)%sﬂﬁﬁ'aﬁweﬁ?'w'ﬁﬁqssﬁw-
i 872
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Correct Answer: 2) T&UT

Candidate Answer: 3) G-l

QID : 256 - YH & YA YR I FAIA 1" T S AT SWAPR © 2

Correct Answer: 4) 3UHI

Candidate Answer: 3) L

Correct Answer: 2) HFAIHRU]

Candidate Answer: 2) HFAIHROI

QID : 258 - UTABHR & T =Y I fbd~ UHR gId &2
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Correct Answer: 1) Ui

Candidate Answer: 1) U

QID : 259 - 3fd TelH JUHHSHART | SHeigE Aed, Iy Al fIdad, i Ty gR ufdhd Fomi | ge fogR
I Pitgar!, St Afer fedsdR 3 ARt
T Ufaat & S1H-91 SIAhR § 2

Correct Answer: 4) 3UHI

Candidate Answer: 2) I

QID : 260 - ‘T T3 Ug UgH TR | B YA WY SRAT H B T ATHR g
Options:

) SIIUT 3D R
) JH® 3ABR
) SUHT AP
4) TUH AAPR

1
2
3

Correct Answer: 1) 3V 3(AHR

Candidate Answer: 4) TU®D 3JABR

QID : 261 - ST U7 fay &Y forgm 371 Frell SISRY &, AfraTe wiowT &1 4@ ot w1 gsm 8 ek A1 A oA
T HTHR B
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Correct Answer: 1) 3{fd<aifad S@HR

Candidate Answer: 4) ¥U®b 3AHR

QID : 262 - 57 T I 318 T I &1 7 | fo st w391 & e 7 iR ot 3@ || o difdaa o
DHI-TT B< 87

Correct Answer: 2) Qg

Candidate Answer: 2) gl

QID : 263 - {5 T H 26 AHTT Bldl & duT 14-12 W AfA BT § ?

Correct Answer: 3) Tifdel ©a

Candidate Answer: 2) IR31 ¥G

QID : 264 - BITEIE & Yddidh BT T g-
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Options:

1) gPAEA Ud
2) JItR UTeH

3) GHCeR Uisy

4) SURHR TG

Correct Answer: 4) SIORI®R UIIG

Candidate Answer: 4) SIIRHR YIS

QID : 265 - XTI Pl ¢@ P 7ol I A | Tt off grerd & oR1 91 A Siep1 g
Options:

1) dR ™

2) TR
3) YA ™
) 1

F Y

Correct Answer: 4) &I

Candidate Answer: 3) Xid g

QID : 266 - The LCM and HCF of two rational numbers are equal then the numbers must be

31 gAY TATS BT {00 SR F0HO SRIeR ¢, o) ST 3fa<y g givtt

Options:

1) Prime
SHHSY

2) co-prime
Hg-3HHSY
3) composite
Bl

4) equal
THA

Correct Answer: 4) equal
THA

Candidate Answer: 3) composite

it
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QID : 267 - Find the biggest number which can divide both 324 and 144.

I8 oY TSI TS J1d BT S 324 3R 144 T} ) fGHTRIG B T |
Options:

1) 18
18
2) 36
36
3)9
9
4) 21
21

Correct Answer: 2) 36
36

Candidate Answer: 2) 36
36

QID : 268 - The number in the form of 4p + 3, where p is a whole number, will always be
4p + 3% ¥ T &, TeT p U quf e 7, Tea weht

Options:

1) even

qH

2) odd

3fGite

3) even or odd

Ty g7 faurq
4) multiple of 3

3 BT IO

Correct Answer: 2) odd

3lle

Candidate Answer: 1) even
qH

QID : 269 - The solution of 4/x+3y=14 and 3/x-4y=23 is:

4/x+3y=14 3R 3/x-4y=23 BT A &:

GET IT ON
Google Play
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Options:

1) % and -2
Vs 3R -2
2) sand 2
¥4 3R 1%
3)3and 2
38R %
4)2 and Vs

2 3R %4

Correct Answer: 1) 'sand-2

15 3R -2

Candidate Answer: 2) Yz and /2

5 3R 14

QID : 270 - The graphical representation of a pair of equations 4x + 3y — 1 =5 and 12x + 9y = 15 will
be

THIHRT 4x + 3y - 1 = 5 3R 12x + 9y = 15 P U Slia! b Ahehd Ul grm
Options:

1) parallel lines

2) coincident lines

3) intersecting lines
EIREReC]Y

4) perpendicular lines

daad 3@

Correct Answer: 1) parallel lines
M

Candidate Answer: 3) intersecting lines

Tfd=sdl Y

QID : 271 - Graphically, the pair of equations 7x —y = 5; 21x — 3y = 10 represents two lines which are

TN TG, FHIHRON BT JH 7x — y = 5; 21x — 3y = 10 1 X137 ! GTAT 8 o §
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Options:

1) intersecting at one point
T foig IR Ufcrwsg oAl

2) parallel
AR

3) intersecting at two points
3 figaf W ufaese weem
4) coincident

gurdt

Correct Answer: 2) parallel
YHMIR

Candidate Answer: 1) intersecting at one point

T foig IR Ufcrwsg ol

QID : 272 -
If o and B are the zeroes of the polynomial £°+x+1 then the

value 0f§+§wi|l be:
afg o 3R B ﬂ@ﬂf{xj:quﬂ %Wﬁ?ﬁi+§ﬁ
o= I

If o and B are the zeroes of the polynomial £°+x+1 then the
value 0f§+ é will be:

g a 3R B IGUE flx)=a’+x+1 %Q]faais”ffi‘f}éar
IIFfEﬁTIT:

Options:

4) None of these

STH PIS Tol
Correct Answer: 3) -1

Candidate Answer: 2) 1

GET IT ON
Google Play
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QID : 273 - The quadratic equation x> + 7x — 60 has

feard IR x2+ 7x - 60§
Options:

1) two equal roots

[AkIE Rl

2) two real and unequal roots
3 Rl 3R SAH g

3) no real roots

DTS JdfaD qd Tt

4) two equal complex roots

& T Sifed qa

Correct Answer: 2) two real and unequal roots

Q) ISP SR AN

Candidate Answer: 1) two equal roots

3 T A

QID : 274 - Mohan and Sohan solve an equation. In solving Mohan commits a mistake in constant
term and finds the roots 8 and 2. Sohan commits a mistake in the coefficient of x. The correct roots
are

g 3R Wi Uh THIHRUI 8 Hd & | 6 R H HIg 3R U H el ral g 3R gl 8 3R 2 Trl
81 TIe x & TUIh H Terct Bl & | Tel 7 &

Options:

1) 9,1
9,1
2)-9,1
-9,1
3)9, -1
9, -1
4)-9, -1
-9, -1

Correct Answer: 1) 9,1
9,1

Candidate Answer: 3) 9, -1
9, -1
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QID : 275 - Raj got a new chair for 35% discount. Had Raj got no discount, Raj would have had to
pay Rs. 224 more. How much did Raj pay for the chair?

3TST B 35% FT TR UH T8 P (Hait | A IS Bl DI e To! 7, af IS DI 224 FGF BT YA 3R
HRAT TSAT| IS A HT b forg fpa=m ywram fwan

Options:

1) Rs.416
F. 416
2) Rs. 640
F. 640
3) Rs. 208
F.208
4) Rs. 224
T, 224

Correct Answer: 1) Rs.416
2. 416

Candidate Answer: 2) Rs. 640
2. 640

QID : 276 - Marked price of a TV is 20% more than its cost price. Yet Ajay gives a discount of 30%
while selling the TV. How much per cent loss did he incur?

T At BT Siford T ISP AT Hed  20% M g1 bR+t 3 it s 90 30% &1 ge Sar gl
3 faran wfa=rd &1 g1 g82

Options:
1) 10%

10%
2) 16%

16%
3) 5%

5%
4) 50%

50%
Correct Answer: 2) 16%

16%
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Candidate Answer: 1) 10%

10%

QID : 277 - The midpoint of a line segment joining two points A(2, 4) and B(-2, -4) is
Q1 feigall A2, 4) 3IR B(-2, -4) B! e aTel YERdS b1 HeAfdg §
Options:

1) (-2, 4)
(-2,4)
2)(2,-4)
(2, -4)

3) (0, 0)
(0,0)

4) (-2, -4)
(-2, -4)

Correct Answer: 3) (0, 0)
(0,0)

Candidate Answer: 4) (-2, -4)
(-2, -4)

QID : 278 - Aline intersects the y-axis and x-axis at the points P and Q, respectively. If (2, -5) is the
midpoint of PQ, then the coordinates of P and Q are, respectively

T T y-318f 3R x-318f BT HALT: foig P 3R Q W vfawye HRA 813 (2, -5), PQ FHT AeAfdg §, Al P
3R Q & e HA: §

Options:

1) (0, -5) and (2, 0)
(0, -5) 3R (2, 0)

2) (0, 10) and (-4, 0)
(0, 10) 3fRR (-4, 0)

3) (0, 4) and (-10, 0)
(0, 4) 3R (-10, 0)

4) (0, -10) and (4, 0)
(0, -10) 3R (4, 0)

Correct Answer: 4) (0, -10) and (4, 0)
(0, -10) 3R (4, 0)

Candidate Answer: 1) (0, -5)and (2, 0)
(0, -5) 3R (2, 0)
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QID : 279 - The steps from solids to points are:
3 I foig 9% & WU E:
Options:

1) Lines — points — surfaces — solids
2) Lines — surfaces — points — solids
3) Solids — lines — surfaces — points
4) Solids — surfaces — linepoint

Correct Answer: 4) Solids — surfaces — linepoint

Candidate Answer: 4) Solids — surfaces — linepoint

QID : 280 - The base and height of a triangle are in the ratio 3 : 4 and its area is 216 cm? . The height
of the triangle is

T FAYS BT YR 3R 1S 3:4 F U 7 § 3R ST &A%d 216 Y12 B | FYS &1 s 7
Options:

1) 18 cm
18 It
2)24 cm
24 91
3)21cm
21 9t
4) 28 cm
28 il

Correct Answer: 2) 24 cm

24 I}

Candidate Answer: 4) 28 cm
28 Tt
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QID : 281 - The area of a square is the same as the area of a circle. Their perimeters are in the ratio
TS G &1 &A% Th I & &A% P TAM | 30! URATT SUTd § §
Options:

1)1 :1

4)\m:2
\TT:2

Correct Answer: 4) 1:2
A2

Candidate Answer: 2) 2: T,

QID : 282 - If the length of a rectangle is increased by 1/3rd and the width is decreased by 1/3rd, then
the area of the rectangle is decreased by the fraction

Tfe U 3Tad B a8 1/3 9¢1 S 9Tl & 3R TSTs 1/3 HH B &l 9Tl §, ol 31Td BT aA%hd [ H:-
HHE S8

Options:

1) 2/3

2) 1/6

3)1/9

4)1/8

Correct Answer: 3) 1/9

Candidate Answer: 1) 2/3
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QID : 283 - The lengths of the sides of a triangle are in integers and its area is also an integer. One
side is 21 cm and the perimeter is 48 cm, then the length of the shortest side is

TH YW DT yoiisft @1 darsal guie! J gl § SIR 3961 &hd ot T unie sidl ¢ | Th Yol 21 JH 3
IR aRATg 48 Tt &, T T BIS Yo BT AT

Options:

1)8cm
8 qwt
2)10cm
10 9t
3) 12cm
12 ot
4) 14cm
14 9ot

Correct Answer: 2) 10 cm

10 IHt

Candidate Answer: 3) 12cm

12 It

QID : 284 - If we change the shape of an object from a sphere to a cylinder, then the volume of
cylinder will

g 84 [l aXg o1 SMHR Tl W IEADR 90 § 96 ¢ ol 9 BT I g S
Options:

1) Increase

s

2) Decrease

HH

3) Remains unchanged
3rfafdd vean 8

4) Doubles

Gl

Correct Answer: 3) Remains unchanged

3Rafdd war e

Candidate Answer: 3) Remains unchanged

ufafeid Ygar g
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QID : 285 - A card is drawn from the set of 52 cards. Find the probability of getting a queen card.

52 Ol & A H U Ul abTel 91l ¢ | 19 B8 B &1 JRidbar 1d siforg|
Options:

1) 1/26

1/26

2) 1/13

113

3) 4/53

4/53

4) 4/13

4/13

Correct Answer: 2) 1/13

113

Candidate Answer: 1) 1/26

1/26

QID : 286 - Which of the following is not a measure of central tendency?
frafaiea & @ & S vgiy &1 d19 T8t 82

Options:

1) Mean
e

2) Mode
ggcidh

3) Median
BliFCal

4) Range
guft

Correct Answer: 4) Range

goft

GET IT ON
Google Play
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Candidate Answer: 4) Range

guft

QID : 287 -

Look at the cumulative frequency distribution table given below:
A g1 718 Yt JA1gi fadeur difdd! au:

Monthly income(HTFE® ) Mumber of
families(afear @t
hakcal)

More than £ 10000 100

(%10000 & =€

Maore than I 14000 85

(T14000 ¥ 7=

hore than 18000 6o

(T18000 =0T

More than £ 20000 50

(%20000 F =&

More than ¥ 25000 37

(325000 ¥ =€)

More than $ 30000 15

($30000 ==

MNumber of families having income range 20000 to 25000 is
20000 ¥ 25000 T BI M dlcd IRART i T 3

(A)19 (B)16 (C)13 (D) 22

Options:

1) Option A is correct
19
2) Option B is correct
16
3) Option C is correct
13
4) Option D is correct
22

Correct Answer: 3) Option C is correct
13

Candidate Answer: 3) Option C is correct
13
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QID : 288 -

sin47®

cos43®

sind7"

cos43°
Options:
10
2)

1 XZ

3) 1
4)2
Correct Answer: 3) 1

Candidate Answer: 3) 1

QID : 289 -
{ sin® 22°+ sin® 68°
(cos® 22°+ cos® 687)

+ sin?63 + cos63°sin 2?0} A

@o M1 @2 () 3

Options:

1) Option (A) is correct
fowed (A) wEl R
2) Option (B) is correct
fowea (B) wEl T
3) Option (C) is correct
foweg () w1 &
4) Option (D) is correct
fowea (D) ¥l &

Correct Answer: 3) Option (C) is correct

fasey (C) el &

GET IT ON
Google Play
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Candidate Answer: 2) Option (B) is correct

fased (B) el &

QID : 290 -
If cosec® =+/10thensecd =?

Tl cosec 8 =10 dlisecd = ?

@= BL 0% @ =

3 3 10 3 10

Options:

1) Option (A) is correct
fowea (A) Wl ®
2) Option (B) is correct
fowea (B) Wl T
3) Option (C) is correct
fowea (c) Wl ®
4) Option (D) is correct
faweg (o) ¥ &

Correct Answer: 2) Option (B) is correct

3wy (B) WET §

Candidate Answer: 2) Option (B) is correct

fasbed (B) W81 &

QID : 291 - Which of the following states of matter is Ice?
uerd B g T A B W SHawRT T 32

Options:

1) Solid State

3 AR
2) Gaseous State

Tt it
3) Liquid State

RT aRT
4) None of these

T A DI e
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Correct Answer: 1) Solid State
3 SfaRT
Candidate Answer: 1) Solid State

B 3wy

QID : 292 - are saprophytic, eukaryotic organisms.
_ oERe, ghRafies a gl
Options:

1) Blue-green algae

HId & Qara

2) Mycoplasma

BIECAISI

3) Bacteria

Sitarg

4) Al
Tt

Correct Answer: 4) All

Tt

Candidate Answer: 1) Blue-green algae

i &2 A9
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Options:

1) Keep the individual organism alive

AT Siid B Sifad 3@ & fore

2) Fulfill their energy requirement

D! Sl ALIH AT BRI PR P o1y

3) Maintain growth

faTg 9N W@ & forw

4) Continue the species generation after generation

TSI @l TGl &R dlgl oIkt X& T

Correct Answer: 4) Continue the species generation after generation
TSIl bl Uit R it SRt TG

Candidate Answer: 4) Continue the species generation after generation

ToITfa &1 UGt ax UGl SIRY X1

QID : 294 - Which theory states that ‘Atoms of different elements may have the same atomic mass’?
D 91 Rigid Hedl ¢ & Tafld aal & RIS &7 IRATY] Soad M 9T g1 9l 52
Options:

1) Berzelius Hypothesis

oo TR T
2) Modern Atomic Theory

3YAd TR Rigid
3) Avogadro’s Hypothesis

AN Bl URBeTT
4) Maxwell theory

Hagad Rigid

Correct Answer: 2) Modern Atomic Theory
3Ny TR Rigid

Candidate Answer: 2) Modern Atomic Theory

YFH TRA] Rigia
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QID : 295 - Which of the following factors does the acceleration due to gravity on the Earth depend
upon?

Tl R B YUl & HRUN R0 39 H  forg HRe W R FHrar g2
Options:
1) Mass of the Body

IRR & GTHH R
2) Mass of the Earth

Gdl & GoiHE IR
3) The volume of the Body

IRR & A R
4) Shape and Size of the Body

IRR F SHTHR 3R e R

Correct Answer: 2) Mass of the Earth
Gt & GogHA R

Candidate Answer: 2) Mass of the Earth

Udl & G R

QID : 296 - What is the unit of pressure in the S| system?

SI YuITelt & aTd Bl 3ebTS o 87
Options:

1) Newton

Sl

2) Pascal

URed
3) Joule

et
4) Watt

A
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Correct Answer: 2) Pascal

URed

Candidate Answer: 2) Pascal

Ui d

QID : 297 - Which of the following is a non-biodegradable substance?
T H A HH I TS R-IRNSISTA Uerd g2
Options:

1) Virgin plastic

afei wies
2) Plastic

WIREH
3) Plants

ary

4) Plant producers
Y IdGH
Correct Answer: 2) Plastic

e

Candidate Answer: 2) Plastic

e

QID : 298 - When benzaldehyde and formaldehyde are heated in an aqueous NaOH solution, they
produce

TS JoCEEIES IR BIHTCSgIES &) oiald NaOH diel 7 7 fbar ST €, a1 3 Sua g &
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Options:

1) sodium formate + benzyl alcohol

HISTH WIHC + doEd Sfeeblga

2) methanol + sodium benzoate

AYAFTT + ifsud dSiie

3) Methanol + benzyl alcohol

T + SR Sfehled

4) sodium formate + sodium benzoate

Nfeaq wide + WeaH deiite

Correct Answer: 1) sodium formate + benzyl alcohol
feay Bife + Iosd Sfepigd

Candidate Answer: 3) Methanol + benzyl alcohol

BT + SIS 3fehlgd

QID : 299 - Which of the following conditions is caused by the clouding of the lens in the eye?
T I B O UMY ofia & o A YUao & HRUT Gl 82
Options:

1) Myopia

AT

2) Astigmatism

ERGRE

3) Glaucoma

DT

4) Cataract

Hifaarea

Correct Answer: 4) Cataract
Hifcrafeia

Candidate Answer: 1) Myopia

Arafoar

GET IT ON
Google Play
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QID : 300 - The flagella of a prokaryotic and eukaryotic cell vary in
MeRafed 3R ghRaifes HIRMET & Faicd ITT-3ET 81d &
Options:

1) Mode of functioning and location in the cell

PIRABT T BT B BT dRbT 3R VM

2) Types of movement and placement in the cell

PIRMHT H 7T 3R VI & UPR

3) Microtubular organization and function

TTEHICIgeR e 3R B

4) Microtubular organization and type of movement

YEATA W6 SR T BT THR

Correct Answer: 4) Microtubular organization and type of movement
JEATAT T3 SR T BT THR

Candidate Answer: 4) Microtubular organization and type of movement

AT W6 SR T BT UHR

QID : 301 - This disease is caused by a protozoan

g I TICTSlSH & SR EIdl §
Options:

1) Influenza

RIS

2) Syphilis

R fery

3) Blastomycosis

TR HS ST

4) Babesiosis

SRR
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Correct Answer: 4) Babesiosis

EEIRpIRR]

Candidate Answer: 2) Syphilis

e

QID : 302 - Transpiration is regulated by the movements of
ClL T @1 fafafird grr Ffa e ®
Options:

1) Parenchyma cells

Y-hTSHT PIRABTY

2) Guard cells

&P DIRABIY

3) Epithelial cells

JUGHAT HIRABTY

4) None of these

T Y BIg ot T

Correct Answer: 2) Guard cells
R&feh pIfADTY

Candidate Answer: 2) Guard cells

&P HIABTY

QID : 303 - In our country, vast tracts of forests are cleared and a single species of plant is cultivated.
This practice promotes

AR I H, ST & fa=me YHRT & 11wk famar Sirar 8 SR Tt &) T 81 USiTfa 1 Wit &t ot g | I8
3T 19T ST §



https://applink.adda247.com/d/XhqWf9lSap

Adda7

Options:

1) biodiversity in the area

& # oig fafdear

2) monoculture in the area

PEE R IBICT

3) growth of natural forest

PICAREACECARCEIR]

4) preserves the natural ecosystem in the area
&1 & vepfaies TIRTRURIE o1 1 TRfdrel e
Correct Answer: 2) monoculture in the area
&7 H HiFdeR

Candidate Answer: 3) growth of natural forest

PICARCACECARCEAR]

QID : 304 - The chloroplast thylakoids are in the form of.
FRIERE YIADISeY fFg TU A EIA §...

Options:

1) Interconnected sacs
3T B TSt g% Ach

2) Independent discs
ESRENREST

3) Interconnected tubules
3 H gl Ay

4) Stacked discs

s fsm

Correct Answer: 4) Stacked discs

XIS fep

Candidate Answer: 3) Interconnected tubules

3 F &I Ay
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QID : 305 - The scientist who used a microscope to study the movement of pollen grains suspended
in water is

gﬁmﬁﬁwﬂﬁﬁaﬁﬁwmﬁﬁmwawﬁmﬁ%ﬁqmwwmm

Options:
1) J.J Thomson

S O YT
2) Robert Brown

RECCIRE]

3) John Dalton

WM Sleed

4) Ernest Rutherford

3 TRBIS

Correct Answer: 2) Robert Brown
RECEIRE]

Candidate Answer: 3) John Dalton

I STee

QID : 306 - One micro ampere electric current is equal to
T ATgh! TR fagyd ury ffafaa § o W 22
Options:

1) 10A
104A
2) 10°A
10-5A
3)10%A
10°A
4)107A
107A

Correct Answer: 3) 10°A
106A

Candidate Answer: 4) 107A
107A
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QID : 307 - The emf induced in the circuit when the magnetic flux associated with an electric circuit
changes is known as:

oIq foreht fagga uftuy @ S Ja@ yarg & uikad gidr g ot uikuy & IR STATE &1 %gl oIl &:

Options:

1) electromagnetic induction

gAgeIHfe® SSaRH

2) lenz’s law

At BT A

3) hysteresis loss

feefeedta gf

4) Kirchhoff Laws
[EZEILa]
Correct Answer: 2) lenz’s law

A=t &1 A

Candidate Answer: 3) hysteresis loss

feeefeta g

QID : 308 - Formation of London smog takes place in
e W T o g 8
Options:

1) winter during day time

dl 7 a7 & vy

2) summer during day time
T 7 e & wHy

3) summer during morning time
T o gag & 99

4) winter during morning time

el & g & g9y

Correct Answer: 4) winter during morning time

et B gag & 99y
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Candidate Answer: 3) summer during morning time

T o gag & 99

QID : 309 - The Sl unit of power is.

wfed &1 SI 7E® © -

Correct Answer: 1) watt
dic

Candidate Answer: 3) Newton

e

QID : 310 - Which one of the following is not electronic configuration of a noble gas ?
0 A B 31fha T FT o+ faamg T8t § 2
Options:

1)2,8,18,8
2,8,18,8
2)2,8,18,2
2,8,18,2
3)2,8

2,8
4)2,8,18,18,8
2,8,18,18,8

Correct Answer: 2) 2,8,18,2
2,8,18,2

Candidate Answer: 3) 2,8
2,8

GET IT ON
Google Play
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QID : 311 - During world war first on what date did the United States declare war on Germany?
yH 3y gg & IR for faf & Igea g smifvet 3 s & fave g &t aiwon &i?
Options:

1) December 7, 1914
7 faTeR 1914

2) April 6, 1917
30U 6, 1917

3) January 29, 1918
29 SHasY, 1918

4) November 4, 1917
4 9, 1917

Correct Answer: 2) April 6, 1917
3l 6, 1917

Candidate Answer: 1) December 7, 1914
7 faawR 1914

QID : 312 - The British passed the Forest Act in India in which year?

3Rl 7 HRA § o7 tfafaw feg o uifea feane
Options:

1) 1865
1865
2) 1882
1882
3) 1927
1927
4) 1947
1947

Correct Answer: 2) 1882
1882

Candidate Answer: 2) 1882
1882

QID : 313 - The Bolsheviks, under Lenin's leadership, promised the people:

AT & A | SeRifdep! = 1 arar fobar:

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap

Adda7

Options:

1) A capitalist economy

T Yoitard! sriemai

2) "Peace, Land, and Bread"

3) To maintain the monarchy
RTSTCi 1 BIIH &G

4) More power to the aristocracy

SfreiTd ot 1 31 wfad

Correct Answer: 2) "Peace, Land, and Bread"

Candidate Answer: 3) To maintain the monarchy
RTSTci ! BHIAH &1

QID : 314 - Which of the following was one of the eleven demands of MK Gandhi before the Civil
Disobedience Movement?

g 3ra Sficier A Ugd THS el &1 aRg AT § ¥ BiF A 22
Options:

1) Reduce expenditure on the military and civil administration by 50 per cent.

T R AR TRINH IR G 50 U= &8 &1 |

2) Change Arms Act allowing popular control of issue of firearms licences

STHITA AU SIRT DA & ANB U 301 DT 3AfT ¢ ared = SHfAAgH § dgard

3) None of these

3 IS T

4) Both Reduce expenditure on the military and civil administration by 50 per cent And Change Arms
Act allowing popular control of issue of firearms licences

T O 3R MRS UG IR T 50 U= HH B | 3R MR As9d SR} 64 & Ale iy Fe=
DT AR &7 aTdl IR SHIATH § Igaa

Correct Answer: 4) Both Reduce expenditure on the military and civil administration by 50 per cent
And Change Arms Act allowing popular control of issue of firearms licences

T A 3R AN TR WR W 50 Ufa<d &H B3 | 3R AR 138 STRT B & b o gz
DI SN < aTal IR ST F dgeaa

Candidate Answer: 1) Reduce expenditure on the military and civil administration by 50 per cent.

I 3R ARG YR R T 50 Ufawrd H B

QID : 315 - Urbanization can best be described as —

GBI B FaiaH =0  afdfd faar o Ibdr &
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Options:

1) A system of farming and harvesting crops with efficient precision

FHIIA IR & Y Wit R B! B Hels &1 Th YIat

2) The movement of jobseekers into the city

X B DB A6 aTdl &1 SHTaTSe!

3) A process of quickly and cheaply making steel to manufacture other industrial productions
3 3TN IareHT & AT 3 forg Sl ofR T H el S &1 T Ufshan

4) A process of sterilization to increase the shelf life of liquids such as mil

o S R yerdf Pt Ve AP TG b T WSO o1 Th Ufehar

Correct Answer: 2) The movement of jobseekers into the city

TER H I3} A1g ardll B 3Mareig!

Candidate Answer: 4) A process of sterilization to increase the shelf life of liquids such as mil

o O IR geTdf B Ao AT FgH & AT TResoRH St U ufhar

QID : 316 - Which of the following is a factor influencing the distribution of vegetation and wildlife in
India?

fRoferiRad & Q &9 91 YR & aefd 3R 97 Siidd & faaRur &1 GHIfId B 9Tl HRP 82
Options:

1) Temperature
GICEIG
2) Altitude

CEIH

3) Rainfall
aut

4) All of these
gt

Correct Answer: 4) All of these

Tt

Candidate Answer: 1) Temperature
GIECIG

QID : 317 - Map distance in a scale is also known as:

Y & AR @t gt B 39 = § oY S o7 8
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Options:

1) Numerator
3R

2) Denominator
ICHISED

3) Statement of Scale
W o favor

4) Representative Fraction

gfafAfy s

Correct Answer: 1) Numerator
3

Candidate Answer: 3) Statement of Scale

Thd ol fagvor

QID : 318 - Kharif crops are grown with the onset of monsoon in different parts of the country, and
these are harvested in

%m%ﬁé@%@ﬁm&ﬁm@m%mumaﬁwﬁmaﬁ%sﬁ?gqaﬁao—c’rs‘_ﬁ
GRS

Options:

1) July-August

TS 3T

2) June-August
O-3{TRd

3) September-October
RYdoR-3fagar

4) October-November

JFgER-TdeR

Correct Answer: 3) September-October

RydaR-srageR

Candidate Answer: 4) October-November

JfAgeR-AdeR

QID : 319 - Which of the following is the most important raw material for the generation of power in
India?

YRd H faorelt Iare & forg Fafoafad & 3 o9 91 9% Tgayul &l A1d 82
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Options:

1) Mineral Oil
QS de

2) Natural Gas
Y

3) Uranium

QEH

4) Coal
DIl

Correct Answer: 4) Coal

P

Candidate Answer: 4) Coal

I

QID : 320 - Deciduous forests are found in regions which have:
quUITT 3 3 &1 § UTY 9ITd & T
Options:

1) Heavy amount of seasonal rainfall for long term

el 3rafd & forg W v o Hie aui

2) Moderate amount of seasonal rainfall that lasts for only a few months
TegH A § At auf S Ha9d $© HelH! db I8! §

3) Barren land

IR Y

4) Less rain for less time

HH gAY & fou &H T

Correct Answer: 2) Moderate amount of seasonal rainfall that lasts for only a few months

Hegw 7 A Arge anf o Saet po 7T de | ?

Candidate Answer: 2) Moderate amount of seasonal rainfall that lasts for only a few months

Hew HE § e auf of Pae o 7l aP WBdl §

QID : 321 - Which of the statements is correct about Solar Energy?

IR ol b IR H DI T HY= TgT 87

GET IT ON
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Options:

1) It is a renewable and conventional source of energy

TG Frolt BT T AT 3R URURe Hid 3

2) It is a non-renewable and non-conventional source of energy
TE &l BT Th TR-AdIHRUMT 3R R-IRURS Hd 3

3) It is a renewable and non-conventional source of energy

Tg il BT U ARV SR IR-URURS HId &

4) It is a non-renewable source of energy

g Sl Bl Udh IR-AIHIUg Fid &

Correct Answer: 3) ltis a renewable and non-conventional source of energy

T8 Heil Bl U FdehRoNg 3R R-IRuRes T &

Candidate Answer: 2) ltis a non-renewable and non-conventional source of energy

TG Froll BT T TR-AAIH0NY 3R TR-IRURS T &

QID : 322 - When was the first public railway line opened?
UGl AT+ Yeid d1e $d @idl 15 &2
Options:

1) 1815
1815
2) 1825
1825
3) 1830
1830
4) 1835
1835

Correct Answer: 3) 1830
1830

Candidate Answer: 2) 1825
1825
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QID : 323 - With reference to the minerals and districts where they are predominantly found in Bihar,
consider the following pairs:

1. Limestone - Kaimur

2. Mica - Nawada

3. Quartz - Bhagalpur

4. Quartzite - Lakhisarai

Which of the above pairs is / are correct?

fygR & @fell SR fralt & deuf & Sgi 9 Ty ¥ ¥ Ui ord 7, fFafafed gml R faar
1. AT URR - FIR

2. Y - FaTal

3. BICT-HITAGR

4. BICIATSC-AURRT

SWRIad & T S I1 g el 8/872

Options:

1) Only 1
Fad 1
2)Only2&3
PId 2 3R 3
3)Only 1 &2
Fad 1 3R 2
4)1238&4
1,2,3 3R 4

Correct Answer: 4) 1,23 &4

12,3 3R 4

Candidate Answer: 1) Only 1
DHad 1

QID : 324 - Which of the following personalities quoted, “Democracy is of the people, for the people,
by the people”

fFrafied & § forw safdda 3 Seyd e, "eiieda @il &1, il & frg, il grT 8"
Options:

1) Mahatma Gandhi
HETEH et

2) Albert Einstein

3TC AR

3) Abraham Lincoln
3fsiTgH fefh

4) Rabindranath Tagore
ST TR
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Correct Answer: 3) Abraham Lincoln

3eeH feid

Candidate Answer: 3) Abraham Lincoln

I ANC|

QID : 325 - Which of the following is the most important feature of a democratic election?
frafafed & @ ®F diedize A1 & 999 Hedyu! fa=ivdT 82
Options:

1) Universal adult franchise
e TR TSR

2) Secret ballot

Tt HdaHd

3) Free and fair elections

W 3R et ga

4) Independent Election Commission

Tad AT START

Correct Answer: 3) Free and fair elections

e 3R e g

Candidate Answer: 2) Secret ballot

It HdaH

QID : 326 - Which one of the following does not constitute the electoral college for electing the
President of India ?

Foffed # @ S WRd & AYufd & gA1d & g Fafae Hed o1 767 781 ol 87

Options:

1) Elected members of Lok Sabha
AHEHT & FHaffad T

2) Elected members of the Legislative Assembly of each state.
TA® 9 B! f3u™ U1 & [Aaifd 9|

3) Elected members of the Legislative Council

faur ufe & Faifd Jaw

4) Elected members of Rajya Sabhar

gyl & Faffad wewa

Correct Answer: 3) Elected members of the Legislative Council

faur ufvwe & faffd ge=

GET IT ON
Google Play
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Candidate Answer: 1) Elected members of Lok Sabha

v & falfad g

QID : 327 - Within how many days after receiving a reply on the First Appeal, a Second Appeal can
be filed?

YA Ui TR IR U A & fora ot & iR fgcfia st e &t o Tavclt 872
Options:

1) 90 days
90 f&1

2) 2 months
2 TgH

3) 30 days
30 fa

4) 45 days
45 f&

Correct Answer: 1) 90 days

90 faA

Candidate Answer: 4) 45 days

45 feT

QID : 328 - in Belgium is a good example of power sharing among different social groups.
. Sfesram § faftra qrnfores THg! & st Ol &1 TReR! &1 T 3T 3aTevul |

Options:

1) Community Government
HHETR% DR

2) District Government
ToTe TR

3) Central Government
I WPR

4) State Government

RS PR

Correct Answer: 1) Community Government

GRS TRHR

Candidate Answer: 3) Central Government
&% WHR
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QID : 329 - In which one of the following countries is democracy not preferred over dictatorship?
frofeaRad o @ forg =1 & arTRe &) ga & dadd & wrfidr T8t < S 82
Options:

1) Bangladesh
CI| N

2) Pakistan
Uriched™

3) Sri Lanka
INE

4) India

HRd

Correct Answer: 2) Pakistan

BIEZSIE]

Candidate Answer: 2) Pakistan

ClERSIE]

QID : 330 - The best laws are those which empower people to carry out reforms.
Y 3 T A § o AN b YYUR B4 & fo F=rad s B

Options:

1) Democratic
NIELIIEED

2) Economic
3fefes

3) Legislative
faemt

4) Social
TS

Correct Answer: 1) Democratic

KIESIEED

Candidate Answer: 4) Social

TSI

QID : 331 - Complete the sentence using appropriate option.
Youand I........... the obligations.

GET IT ON
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Options:
1) am fulfilled

2) has been fulfilling
3) have fulfilled

4) has fulfilled

Correct Answer: 3) have fulfilled

Candidate Answer: 2) has been fulfilling

QID : 332 - Choose the past perfect continuous tense form of the sentence.
"George travels around the world".

Options:

1
2
3
4

George bas been travelling around the world.
George had been travelling around the world.
George shall have been travelling around the world.
George was travelling around the world.

~— ~— ~— ~—

Correct Answer: 2) George had been travelling around the world.

Candidate Answer: 3) George shall have been travelling around the world.

QID : 333 - Select the most appropriate option to change the sentence from direct speech to indirect

speech

Mary asked the gardener, "Did you water the plants yesterday?"
Mary asked the gardener whether.......... watered the plants........
Options:

1) He had/yesterday
2) | had/the day after
3) He had/the previous day
4) They had/the day before

Correct Answer: 3) He had/the previous day

Candidate Answer: 4) They had/the day before
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QID : 334 - Select the most appropriate option to change the sentence from direct speech to indirect
speech

The teacher said to the boy, "where do you live?"

The teacher ----- the boy where ---------

Options:

1) Told/you live

2) Asked/he lived
3) Said/he lives

4) Ordered/he lives

Correct Answer: 2) Asked/he lived

Candidate Answer: 2) Asked/he lived

QID : 335 - Pickout the Non finite verb/verbs in the sentence given below.
You need to stop making so much noise.

Options:
1) Need
2) To Stop
3) Making
4) Noise

Correct Answer: 2) To Stop

Candidate Answer: 2) To Stop

QID : 336 - Pick out the Non-Finite verbs in the given sentence
Do you object to our smoking?

Correct Answer: 4) Smoking

Candidate Answer: 2) You
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QID : 337 - A sentence has been given in Active Voice. Out of the four alternative given below, select
the one which best expresses the same sentence in Passive Voice
| like it.

Options:

1) It was liked by me.

2) It has been liked by me.
3) Itis liked by me.

4) It is being liked by me.

Correct Answer: 3) ltis liked by me.

Candidate Answer: 1) It was liked by me.

QID : 338 - Which of the following sentences has the correct punctuation mark?
Options:

1) May God help you.

2) What a beautiful scene it is!

3) What a good luck;

4) How lovely she looks?

Correct Answer: 2) What a beautiful scene it is!

Candidate Answer: 4) How lovely she looks?

QID : 339 - The "( )" symbol is called
Options:

1) Square
2) Parentheses
3) Braces
4) one

Correct Answer: 2) Parentheses

Candidate Answer: 3) Braces

QID : 340 - Fill up the blank, with the correct option
My mother was proficient........... English.
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Options:

W N =
= — — ~—
o =
33

F Y
—
(@]

Correct Answer: 2) in

Candidate Answer: 2) in

QID : 341 - Fill up the blank, with the correct option
lwasborn ................ June 9th,1975.

Options:

N =
Q O 5
S 5

—

Eopnp=

Correct Answer: 3) on

Candidate Answer: 3) on

QID : 342 - Combine the following sentences into one simple sentence.
He was very dull. He could not understand.

Options:

1) He was so dull and could not understand.

)
2) He was very dull that he could not understand.
3) He was too dull that he could not understand.
4) He was too dull to understand.

Correct Answer: 4) He was too dull to understand.

Candidate Answer: 3) He was too dull that he could not understand.

QID : 343 - Husna was in pain;

she did not tell anyone of her predicament.

GET IT ON
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Options:

1) however

2) in spite of

3) because
)

4) None of these
Correct Answer: 1) however

Candidate Answer: 3) because

Acquainted with

Options:

1
2
3
4

Allowed for something
Familiar with something
Unknown to something
Ignorant of Something

~— ~— ~— ~—

Correct Answer: 2) Familiar with something

Candidate Answer: 2) Familiar with something

Break Down

Options:

1) Failure in something
2) To break into pieces
3) To divide into parts
4) To defeat someone

Correct Answer: 1) Failure in something

Candidate Answer: 1) Failure in something

Cut out

QID : 344 - Select the alternative which best express the meaning of the idioms/phrase.

QID : 345 - Select the alternative which best express the meaning of the idioms/phrase.

QID : 346 - Select the alternative which best express the meaning of the idioms/phrase.

GET IT ON
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Options:

1) To make short

)
2) To make partition
3) Designed for

4) Blaming on

Correct Answer: 3) Designed for

Candidate Answer: 4) Blaming on

QID : 347 - Choose the correct phrase from the given option and make a conditional sentence.
Would you........... to the party, if you had known about it?

Options:

1) had come
2) have come
3) come
4) came

Correct Answer: 2) have come

Candidate Answer: 3) come

QID : 348 - He would have gone to work if he sick.
Options:

1) hadn't been

)

2) won't be
3) didn't be
4) None of these

Correct Answer: 1) hadn't been

Candidate Answer: 2) won't be

QID : 349 - Fill up the blank with the correct option.
Slow and steady---the race.

GET IT ON
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Correct Answer: 1) wins

Candidate Answer: 4) winning

QID : 350 - Fill up the blank with the correct option.

Correct Answer: 3) Were

Candidate Answer: 1) Was

QID : 351 - Choose the correct option instead of the question mark in the given question.
Doctor : Stethescope :: Mechanic : ?

faU T U=l § URAara S g & R W gl [dd e ol g |

e : smar - Abfw : 2

Options:

1) Tyre

-

Correct Answer: 2) Tools

3R

GET IT ON
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Candidate Answer: 2) Tools

3R

QID : 352 - In the given number series what number will come in place of the question mark Symbol.
18,27,34,43,72,7?

& M T SRaa H URard g & M W B - e s |

18,27,34,43,72,7?

Options:

1) 81
81
2)85
85
3)95
95

4) 105
105

Correct Answer: 1) 81
81

Candidate Answer: 1) 81
81

QID : 353 -

Which figures represents the relationship between biclogy, physics and science?

i fane, wifas 4 fooe & 99 & gay o o9 @ e ueita wear &2

a) B}@D C}OOO D)

Options:

1) Option (A) is Correct
fawed (A) W& &
2) Option (B) is Correct
fowea (B) Wl T
3) Option (C) is Correct
fowea () Wl ®
4) Option (D) is Correct
faweg (o) ¥ &
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Correct Answer: 4) Option (D) is Correct

fased (D) WEl 8

Candidate Answer: 1) Option (A) is Correct
fawer (A) T8

QID : 354 - In the alphabet which Letter will be exactely in the middle of 21st Letter from the last and
22nd Letter from the beginnign ?

gufaren & Sifam ¥ 22 97 TUT YRR R T 31&R & 3l Heg H DI T 31&R gNI 2

Options:

Correct Answer: 2) N
N

Candidate Answer: 2) N
N

QID : 355 - Direction :- Seven friends read a book one after the other. E took the book from B, he
read it and gave to C. A read the book after F, but not after G, B did not read the book before D, and
C read the book between E and F ?

Who read the book exactely between B and A ?

1R - O1d Bl 4 U gd® &1 U & 916 U Ul E - [ &1 B I &, 39 34 UedhR C HI af | AT
F & §1¢ d® Ual, IR~ G & &1 el | B 7 G¥dd D & Ugd -To! Yol Al C 7 E YT F & &1 GXdD Ue! ?
B 4T A% 3l &g H fbd qras et 2

Options:
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Correct Answer: 2) C
C

Candidate Answer: 3) E
E

QID : 356 - How many joints required for 5 tables to join straight?
5 2qd B W S & o foba Shis! &1 I T gidl 872

Options:

—
~

4

N

)5

W N

Correct Answer: 1) 4
4

Candidate Answer: 4) 10
10

QID : 357 -
In the following question, select the number which can be

farafafaa us # far v Reedt # @ 39 g&ar &1 gav
o8 usaraes Reg (7) % Reg W @1 31 G6dr §

3 |17 2 |1 6 13

11| 4 10 | 2 13 | ?

placed at the sign of question mark (?) from the given alternatives.
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Google Play
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Options:

1) Option (A) is Correct
fawea (A) Wl ©
2) Option (B) is Correct
fowea (B) W T
3) Option (C) is Correct
fowea (c) Wl ®
4) Option (D) is Correct
foweg (o) ¥ &

Correct Answer: 1) Option (A) is Correct

fased (A) 81 &

Candidate Answer: 3) Option (C) is Correct
fa®e (C) el o

QID : 358 - choose which pair of numbers comes next
2345648--

T o - e S o ol
2345648--

Options:

1)9 10
910
2)48
48
3)10 4
10 4
4)94
94

Correct Answer: 4) 94
94

Candidate Answer: 3) 104
104

QID : 359 - . Count each 1 in the following sequence of numbers that is immediately followed by 2, if
2 is not immediately followed by 3. How many such I's are there?
12134512352126145112412321752125

ﬁ@mdgkﬁm%@maﬂﬁuﬁ$1aﬁmwn¢%ﬁwﬁﬁﬁ$m32%aﬁzaﬁﬁﬁamsqﬁsmﬂ%ﬁm
feaa 187
12134512352126145112412321752125
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Options:

Correct Answer: 2) 4
4

Candidate Answer: 2) 4
4

QID : 360 - Instruction for Question

The candidate must -

a - Be a civil Engineering graduate with at least 65% marks.

b - Not be less than 21 years and not more than 28 years of age as on 1-1-2016.

¢ - Have passed the selection test with at least 70% marks.

d - Be willing to pay a deposit of 50,000 rupees which is to be refunded on completion of training.
However, if all of the above said criteria is satisfied except -

| - At (a) above, but has appeared for the last semester examination and has obtained 75% marks in
the last 7 semesters, the case will be referred to the Vice-President . of the company.

Il - At (d) above, but has an experience of working in this field for more than a year, the case may be
referred to the General Manager of the company.

QUESTION - Khushi has passed civil engineering from a govt. engineering college with 78% marks
and her score in the selection test is 80%. Her age is 24 years and has experience of 2 years in a
private company.

g% & forg g

JHHIEaR & -

U -6 U HH 65% 3 o U1y Rifde SoAaieT Hide g1 anfgul

o - 1-1-2016 BT 21 a9 I HH 3R 28 a9 F 31 &1 g1 =R

Tt - T9 TeT HH Y HH 70% 3Dl & Y Il DT |

g - 50,000 TUY P SHT AT BT YA B & foTT AR I S U0 [T EH WR a9 a1 1 ]
gTaifes, fe SWIad Tt AFES -

| - W (T) B BIeHR TGP &, Al 5d Yo o1 e & Iufd gu 8 ok ed 7 e &
75% 3i% U U ©, df AT SuTedel &1 ol e | Ui |

- JWR (S TR, A1 39 &8 B UH I8 U e TG I BT HRA BT 4T §, AT SOt b
HETISYe T Holl o ebell 2|

U9 - TR 7 Th WBRY Fioe ¥ ffae Soifafar ug &) g1 Soifale sias & 78% 3wt & Iy 3R
T T & ITBT TR 80% & | SD! 3T 24 A & 3R 378 TP il BT H 2 T1d BT 3a 5|
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Options:

1) If the candidate is to be selected.

gfe IHiedR &1 994 fbar ST 81

2) If the case is to be referred to the general manager.
I AT ARTISYSE 1 ol oIl & |

3) If the case is to be referred to the Vice-President .
gfe; AT SUTEE BT Nl ST |

4) If the data provided is insufficient to take any decision.

gfe v forar T Set ois fAufa an & o sruafw g1

Correct Answer: 2) If the case is to be referred to the general manager.

IS HTH HETIS YD ) NSl ST 2 |

Candidate Answer: 1) If the candidate is to be selected.

gfe IHieaR &1 994 fbar ST 81
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